1.

24714 o] Yol B a 7] FokA 2.

~

~

--800ecm---""

-

—

2:50(:m






@ cm?
® ha

92 o] ol :

D L
=%




4. Ol >, = <5 YA HE oA Q.
5ha O 5000 m?

5 S
=%



1000 @

£ g 33

7 B 1EH




<+

=0
ol
Eaal
jant

)
Tor

38 13735 33

35 | 32

Bo



Tor

wn
ol
5
Tor
0
N
=
Tor
Al
=
B ]
HE N

e 78

%

#1790
A

S

oF7E
= X
=T

a}
=

I~

<

=0
Tor
il
Jan

2134

1

) 331273029

N



~a
Nq
i
<}
G
5
—_—
jang
it
o .
N
o
0 T
~ K
= d)
=5
Ho [
T
& W
E._ ~
of ol
i
ey
oy
ok

8.

(9] - o)

o

<A
=0

],

Al

2 EH}o]

o] A
A 4= 1 88000 | 73000 | 85000 | 66000 | 75000




35km? YUt}

6230 g olal, &l Yol

SEAS

e
=

m) ol ] i}

9.

‘BO



il

(291 © ke)

75.8 60.4 29.5

176 66.2

kg



o+ 830714 9] 7}

b

w BAlA s

ol

11.

dl



Y. 20

el

A }\g A

o+ 315 714

Rz

A



13. @xo dg migddr] 7152 vebd YT 6 8] 71504 &
ofjge{of Bt 7] 5ol 37 27t HAFU?
e 7] 715

F@EN[1[2[3]4]5]6

=(x)[32]29([39]42]38

B
il




)




@ FZAA W75 7P
® Yol & 7H54
@ 1ol "ol Y 7H54

® 289 ¥47t 3099 7H54



16.

FA9 2

5 J=X
=%



op

o

ol

H|

™ of
™ of
=

T o
<k
! ol
P
to} ﬁo
omﬂ o
o o
o
5
o) B

Wopo

mo

et

ﬁo

_XL

B



z+ o



19. [ [ooll gure 2 WS AR TS 20,
(1) 80m? = Dcm2
(2) 1070000 cm? =| |m?
(3) 450000 cm? =| |m?



@ 300a = 3m?
@ 2030m? = 20.3a

® 770a="T7ha

@ 9km?2 = 90000 ha

@ 43ha = 4300 m?
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(1) 74m? + 5a+ 460 cm? + 0.036ha = |m?
(2) 850000 cm? + 2.4ha +520m% = Ja
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@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170kg

@ 0.7t 2 70g 2] 10000 BioJT},

® 380kg + 4200 g = 380.42kg
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300g - @kg
58t =Qkg=®@g
4600g = 4.6kg = @t
@ 90000 @ 0.03 ® 58000

@ 58000000 ® 0.0046
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